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cpO²¾rWr qeqJAp²¾ 
(\¥Op^r EdXp) 

POLITICAL SCIENCE 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 100 
Time allowed : 3 hours Maximum Marks : 100 

 qHc\p HcHy q²¾crIV Hc} de} qH qBg \of²¾ \§Wc Wy N\y h}By 11 \¥²y¾ h²¾ & 
 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ Wy kcvc qd§IV & 
 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 27 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 
qdIVJy & 

  Please check that this question paper contains 11 printed pages. 

  Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 27 questions. 

  Please write down the Serial Number of the question before 
attempting it. 

  15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 

the answer-book during this period. 

SET-1 
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qeAp\H q²¾cYyf : 

(i) gpcy \of²¾ kcvcr h²¾ & 

(ii) \of²¾ g¥qIAp 1 – 5 WH hc qBH \of²¾ qBH A¥H Yp h± & hc qBH \of²¾ 

Yp E¨Wc 20 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp &  

(iii) \of²¾ g¥qIAp 6 – 10 WH hc qBH \of²¾ Y} A¥H Yp h± & hc qBH \of²¾ 

Yp E¨Wc 40 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 

(iv) \of²¾ g¥qIAp 11 – 16 WH hc qBH \of²¾ Mpc A¥H Yp h± & hc qBH 

\of²¾ Yp E¨Wc 100 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 

(v) \of²¾ g¥qIAp 17 – 21 WH hc qBH \of²¾ \¥O A¥H Yp h± & hc qBH 

\of²¾ Yp E¨Wc 150 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 

(vi) \of²¾ g¥qIAp 21 `p²¾qM§Wc ApZpqcW \of²¾ h± & E¨Wc Ap\Vr E¨Wc 

\tgqWHp qeM qd§I} & 

(vii) \of²¾ g¥qIAp 22 – 27 WH hc qBH \of²¾ Ny A¥H Yp h± & qB²¾ªp£ qeM~ hc 

qBH \of²¾ Yp E¨Wc 150 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 

 

1. S¥¾Ur O¥J Yy g`z Yy Y¡cp²¾ g¥atHW cpO A`crHp AWy g}qeAW g¥K YrAp£ 

qeMpcZpcpep£ qeM H}Br qBH A¥Wc g\fR Hc} &  1 
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2. A`crHr M¡Zc Yr ctHpeR Yy cv\ qeM hyS¾ qdqIAp£ qeM} qHhmp HX²¾ ‘gM ’  

h± ? 1 

(a) cvg Yr eZYr h}Br WpHW & 

(b) g¥gpc qeM ³±qdAp h}qBAp ApW¥HepY & 

(c) A`crHp cpO Yp Ap\Vp g¥gXp\H Up£Mp & 

(d) qBH ²¾es ApcqXH fHWr Yy cv\ qeM _pcW Yp E_c²¾p & 

3. 1975 qeM dJpBy JBy cpfRcr A\pWHpd ²¥¾v d}Hp£ cphs ²¾p \g¥Y Hc²¾ Yy dBr 

Ot¥`yepc qHgy qBH Hpc²¾ Yr \NpV Hc} & 1 

4. O²¾ A¥Y}d²¾p£ Yy qHgy qBH dp_ E\c c}f²¾r \pG & 1 

5. ‘qM\H} A¥Y}d²¾’ Yp qBh ²¾p` qHez q\Ap ? 1 

6. fpH X±cy\r Yy qHgy Y} ²¾WrqOAp£ Yp A²¾®`p²¾ dJpG & 12=2 

7. H}Br Y} EYphcV Yy Hy qBh YcgpG qH qeferHcV ²y¾ gpTy IpVr-\rV YrAp£ 

ApYWp£ ²¥¾v \o_peW HrWp h± & 12=2 

8. epWpec²¾ g¥^¥Zr qHgy Y} `tqY§Ap£ Yp ecV²¾ Hc} O} qH g¥gpc _c Yr cpO²¾rWr 

Yr qM¥Wp Yp qefp ^V MtHy h²¾ & 12=2 
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9. Hpd` ‘A’ qeM qY§Wy JBy W§Xp Yp Hpd` ‘B’ qeM qY§Wy JBy W§Xp£ ²¾pd 

AcX\vc²¾ q`dp²¾ Hc} :    

   Hpd` ‘A’               Hpd` ‘B’ 

(a) Y}-cpfRc qgZp£W Yy (i) gtHt`pc gy²¾ 

 \cgWepH ²y¾Wp 

(b) 1952 qeM AdJ cpO (ii) A±`.By. qO§²¾p 

 `¥J Hc²¾ epdy 

(c) _pcW Yp \±hdp M}V Hq`f²¾c (iii) gr. cpOJ}\pdpMpcr 

(d) geW¥Wc \pcRr Yy g¥gXp\H (iv) \}¨Rr gorcp`t§dv 
2

1
4=2   

10. WthpTy qeMpc A²¾®gpc _pcW cphs JtRq²¾c\yIWp Yr ²¾rWr ²¥¾v MtV²¾p qHg hY 

WH E¨MW h± ? 2 

11. avc}\r g¥K ²¥¾v \o_pefpdr g¥JS¾²¾ ^²¾pEV epdy qHgy Mpc HpcHp£ Yr qeApqIAp 

Hc} & 14=4 

12. qHhmrAp£ Y} `t§I E`rYp£ ²¥¾v gp ª̀Vy cI Hy 1945 qeM g¥atHW cpfRc Yr 

gXp\²¾p HrWr JBr gr ? g¥atHW cpfRc  Yy qHgy Y} A¥Jp£ AWy ByO¥grAp£ Yp 

q^Gcp qYG & 2+2=4 

13. \±hdr AWy YvOr \¥Oecfr a}O²¾pep£ Yy EYyfp£ AWy \op\WrAp£ Yr Wtd²¾p Hc} & 

qg§Rp HU} qH qBh²¾p£ Y}hp£ qeM~ qHhmr a}O²¾p ²y¾ _pcW Yy qeHpg ²¥¾v qBH ²¾ep£ 

`}m qY§Wp & 3+1=4 
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14. _pcW Yr \c`pVv ²¾rWr Yr qeApqIAp Hc} & 4 

15. ‘JS¾^¥Z²¾ YrAp£ gcHpcp£ _pcW qeM d}HW¥Wc Yy dBr ecYp²¾ qg§Z h}BrAp£  

h²¾ &’ HX²¾ Yy \§I qeM H}Br Y} UtHerAp£ Ydrdp£ qdI} & 22=4 

16. ²¾c`Yp ^MpG A¥Y}d²¾ YrAp£ qHgy Mpc `¥Jp£ Yr gvMr ^VpG & 14=4 

17. hyS¾ qY§Wy JBy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy qBg hyS¾ qd§Iy \of²¾p£ Yy E¨Wc  

qd§I} :   

 `hp£fHWrAp£ ²¾pd Otmy N}Ry Yyfp£ ²y¾ Ap\Vy qB²¾ªp£ fHWrAp£ ²¾pd g¥ ¥̂Z Yr 

ecW~ Ap\Vy q²¾Or qh§Wp dBr HrWr & qB²¾ªp£ Yyfp£ ²¥¾v gXp²¾H qec}Zr Yyfp£ Yy 

qIdp³ gtcqIAp Yp epqBYp q`qdAp, hqXApc AWy ApcqXH ghpqBWp q`dr & 

qB²¾ªp£ Yyfp£ Yr Ap\Vy Jep£Ur Yyfp£ Yy ²¾pd h}m gr & `hp£fHWrAp£ Yr AJepBr 

hyS¾ JS¾ ¥̂Z²¾ (JtR) Yr qeegXp ²¾pd \vcr Ytq²¾Ap£ Yy Y} Iyq`Ap£ qeM e¥Ty OpV 

Yp IWcp \±Yp h} qJAp & 

(i) qBg \±cy qeM YcgpBrAp£ Y} `hp£fHWrAp¥ Yy ²¾p` qd§I} &  

(ii) JS¾^¥Z²¾ (JtR) Yr qeegXp Yy N}Ry Yyfp£ ²¥¾v Ap\Vy Jep£Ur Yyfp£ W~ 

gtcqIAp Yp epqBYp qHez qY§Wp ? 

(iii) `hp£fHWrAp£ cphs N}Ry Yyfp£ ²¥¾v Ap\Vy JS¾^¥Z²¾ (JtR) qeM fpq`d 

Hc²¾ Yy H}Br Y} Hpc²¾ g\fR Hc} & 1+2+2=5  
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18. hyS¾ qY§Wy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy qBg hyS¾ qd§Iy \of²¾p£ Yy E¨Wc qd§I} :  

 _pfp A²¾®gpc cpOp£ Yr ²¾es ^VWc HcHy e§IepY Yy qgZp£W ²¥¾v `²¾kvcr 
q`dr & OY~ Ags qBh Hqh¥Yy hp£ qH _pcW ²y¾ d}HW¥Wc A\VpqBAp h± Wp£ 
qBgYp qBh `Wd^ ²¾hs ht¥Yp h± qH ... _pcW qeM d}HW¥Wcr g¥qeZp²¾ E\c hr 
A`d ht¥Yp h± Op£ _pcW qeM M¡Vp£ HcepBrAp£ Op£YrAp£ h²¾ & _pcW Yy 
d}HW¥Wcr h}V Yy h}c e§Ty AcX h²¾ & d}HW¥Wc ²¥¾v MtV²¾ Yp AcX gr eIyqeAp 
²¥¾v \NpV²¾p AWy E²¾ªp£ ²¥¾v gqeHpc Hc²¾p & ²¾pd hr qBh er ¥̀²¾ Hy MdVp qH 
eIyqeAp£ qeM Ap\gr qec}Z er h} gHYy h²¾ & 

(i) _pcW qeM d}Hp£ Yy gq_ApMpcH Ore²¾ qeMdy eIyqeAp£ Yy qHgy Y} cv\p£ 
Yr \NpV Hc} & 

(ii) qHgy Y} EYphcVp£ cphs YcgpG qH _pcW qeM d}HW¥Wc, qeMpcp£ Yr 
^htWpW AWy eIyqeAp£ Yr \cep²¾Jr ²¾pd OtqmAp h}qBAp h± & 

(iii)  d}HW¥Wc ²¥¾v `k^vW ^²¾pEV qeM Mt²¾pe Yr _vq`Hp Yp A²¾®`p²¾ dJpG & 

   1+2+2=5  

19. hyS¾ qY§Wy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy qBg hyS¾ qd§Iy \of²¾p£ Yy E¨Wc qd§I} :  

  A\pWHpd qeM hc H}Br ²¾pJcH AqZHpcp£ ^pcy qkApYp gtMyW  
h}qBAp & A\pWHpd Yr g`p\Wr W~ q\§N~ AYpdWp£ ²y¾ qeAHWr Yy ²¾pJcH 
AqZHpcp£ Yr gtcqIAp Yy dBr \c_pefpdr _vq`Hp q²¾_pBr & q²¾Ap£\pdHp 
A\pWHpd Yy g`z ²¾pJcH AqZHpcp£ Yr HpcJc WcrHy ²¾pd cqIAp£ ²¾hs Hc 
gHr gr & 

(i) 1975 qeM dJpBr A\pWHpd Yy Y¡cp²¾ _pcW Yy ²¾pJcHp£ Yp qHhmp 
`¡qdH AqZHpc g_ W~ eZ \o_peW h}qBAp gr ?  

(ii) A\pWHpd Yy q\§N~ q²¾Ap£\pdHp ²y¾ qeAHWr Yy ²¾pJcH AqZHpcp£ Yr 
cqIAp Hc²¾ qeM qHqcApfrd _vq`Hp q²¾_pEVr qHE¤ gtcv HrWr ?   

(iii) Hr ‘²¾pJcH AqZHpcp£ Yy AqZHpc’ E\c H}Br \p^¥Yr ²¾hs h}Vr  
MphrYr ? Ap\Vy E¨Wc Yy \§I qeM H}Br qBH UtHes Ydrd qYG & 1+2+2=5  
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20. hyS¾ qY§Wy h}By HpcRv²¾ Yp qZAp²¾ ²¾pd AqZA±²¾ Hc} AWy EgYy hyS¾ qY§Wy JBy 

\of²¾p£ Yy E¨Wc qd§I} : 

 

 

(i) qBg HpcRv²¾ ²¾pd g¥^¥ZW YcgpBy Yyf ²¥¾v \NpV} &  

(ii) qBg Yyf qeM Md chr fpf²¾ \oVpdr Yp `td¥HV Hc} &   

(iii) _pcW Yr fpf²¾ qeegXp HpcRv²¾ ²¾pd g¥ ¥̂ZW Yyf Yr fpg²¾ qeegXp W~ 

qHg \oHpc eI h± & 1+2+2=5  

O}m-KRp qeM 
`| h`yfp£  

M¥Jp qchp hp£ 
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²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRrhr²¾ \orqIApcXrAp£ dBr \of²¾ g¥qIAp 20 Yy 
gXp²¾ Wy h± : 

(20.1) ^¥JdpYyf HY~ W~ HY~ WH \pqHgWp²¾ Yp qBH _pJ gr ? ecV²¾ Hc} & 

(20.2) _pcW AWy Mr²¾ Yy Ycq`Ap²¾ PJmy Yy qHgy Y} t̀qY§Ap£ Wy c}f²¾r  

\pG & 

(20.3) ‘gpcH’ (YHfyg) Yy qHgy Mpc gY§g Yyfp£ Yy ²¾p` qd§I} & 1+2+2=5 

21. _pcW Yy qY§Wy JBy cpO²¾rWH cyIp `p²¾qM§Wc qeM \¥O cpOp£ ²¥¾v             

 AWy    cphs YcgpqBAp qJAp h± & hyS¾ qY§Wr OpVHpcr Yr ghpqBWp ²¾pd 

qB²¾ªp£ ²¥¾v \qhMpV} AWy qB²¾ªp£ Yy ghr ²¾p`, ecW~ qeM qdAp£Yr JBr OpVHpcr 

Yr n` g¥qIAp AWy g¥̂ ¥ZW A§Ic, hyS¾ qY§Wr gpcVr Yy A²¾®gpc Ap\Vr E¨Wc 

\tgWH qeM qd§I} :  

ecW~ qeM qdAp£Yr JBr 
OpVHpcr Yr n` g¥qIAp 

g¥^¥ZW A§Ic cpO Yp ²¾p`  

(i)   

(ii)   

(iii)   

(iv)   

(v)   

(i) Eh cpO qOhmp 1947 Yr e¥T Yy g`z e¥Ty OpV q\N~ h~Y qeM  
ApqBAp & 

(ii) Eh Yygr qcApgW qOgYy fpgH ²y¾ _pcW Yy qeM qedr²¾Wp Yp qec}Z 
HrWp gr & 

(iii) Eh cpO qO§Xy _pcW Yy \±hdy Ap` MtVpe g`z er Hp£Jcyg \pcRr 
^ht`W d±V qeM Ag`cX chr & 

(iv) _pcW Yp 29ep£ cpO & 

(v) Eh cpO qOhmp 1966 qeM h~Y qeM ApqBAp & 15=5 
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\of²¾ g¥. 21 Yy dBr 

_pcW Yp cyIp `p²¾qM§Wc (cpO²¾rWH) 
Outline Map of India (Political) 
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²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRrhr²¾ \orqIApcXrAp£ dBr \of²¾ g¥qIAp 21 Yy 
gXp²¾ Wy h± : 

(21.1) _pcW Yy \§N` qeM qHhmp cpO 1947 Yr e¥T Yy g`z e¥qTAp qJAp 

gr ? 

(21.2) qHg Yygr qcApgW Yy q²¾kp` ²y¾ _pcWr g¥K qeM Ap\Vr qedr²¾Wp Yp 

qec}Z HrWp gr ? 

(21.3) 1952 qeM _pcW Yy \qhdy Ap` MtVpep£ g z̀ Hp£Jcyg qHhmy cpO qeM 

^ht`W \op\W ²¾hs Hc gHr gr ? 

(21.4) _pcW Yy 29ez cpO Yp ²¾p` qd§I} & 

(21.5) 1966 qeM ^VpBy JBy qBH cpO Yp ²¾p` qd§I} & 15=5 

22. g}qeaW g¥K Rt§RV Yy dBr Ot`yepc qHgy Ny Hpc²¾p£ Yr qeApqIAp Hc} & 16=6 

Op£ 

S¥¾Ur O¥J ²¥¾v hqXApcp£ Yr h}m Yy ²¾pd ²¾pd hqXApcp£ E\c Hp^v Yy ed 

qdOpEV epdy qHgy qW¥²¾ Hpc²¾p£ Yr qeApqIAp Hc} &¾ 23=6 

23. g±q²¾H fHWr Yy cv\ qeM A`crHr M¡Zc Yp qefdyfV Hc} &  6 

Op£ 

\pqHgWp²¾ qeM d}HW¥Wc Yr HpcO \oVpdr Yp qefdyfV Hc} & 6 

24. g¥atHW cpfRo gtcqIAp \crfY Yy g¥JS¾²¾pW` Up£My AWy qBgYr HpcO \oVpdr 

Yp q^Gcp qYG & 3+3=6 

Op£ 

gtcqIAp Yy IWcy Yy qHgy qW¥²¾ ²¾ez gc}Wp£ Yp q^Gcp qYG & 23=6 
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25. epWpec²¾ Yr cqIAp Yy dBr H}Br AOyhy Mpc HY` gtPpG qO²¾ªp£ ²¥¾v _pcW 

gcHpc cphs qBHY` MtqHAp OpVp MphrYp h± & 1
2

1
4=6 

Op£ 

AOyhy H}Br Mpc HY` gtPpG qOhmy _pcWr gq_ApMpc ²¥¾v g¥gpcH gWc Wy 

hc`²¾ q\Apcp ^²¾pEV Yy dBr _pcW gcHpc cphs MtqHAp OpVp MphrYp h± &  

  1
2

1
4=6 

26. 1977 qeM A\pWHpd IW` h} OpV W~ q\§N~ _pcW qeM KRrAp£ qHgy qW¥²¾ `t§I 

cpO²¾rWH KR²¾pep£ Yp ecV²¾ Hc} & 23=6 

Op£ 

AOyhrAp£ qHgy qW¥²¾ `t§I KR²¾pep£ Yp ecV²¾ Hc} qO²¾ªp£ Yy ²¾WrOy Yy W¡c Wy 

1969 qeM Hp£Jcyg \pcRr Yr E\MpcH e¥T h}Br gr & 1
2

1
4=6 

27. g±h`Wr Yy AOyhy qHgy qW¥²¾ `tqYAp£ ²¥¾v EOpJc Hc} qOhmy qBh YcgpV qH 

qWIr \oWra}JWp AWy Hf`Hf Yy Ycq`Ap²¾ eZycy cpO²¾rWH Ydp£ qeM Ap` 

g±h`Wr E_cr h± & 23=6 

Op£ 

_pcW Yr cpfRcr AI¥TWp AWy ByHWp ²¥¾v `O^vW ^²¾pEV Yy dBr AOyhy qW¥²¾ 

E\p gtPpG qOhmy WthpTr gdph `tWpq^H ^htW hr \o_pefpdr h²¾ &   23=6 

 


